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[AGB404] one of the followings is not an effect of genetic erosion
gene stability

[AGB404] One of the followings is not a primary attribute of ecosystem
decomposition

[AGB404] One of the followings is not a direct cause of genetic erosion in Nigeria
afforestation

[AGB404] What is the estimated quantity of acquatic life that is taken from the wild life 
every year
100MMT

[AGB404] What is the estimated quantity of acquatic life that is taken from the wild life 
every year
150MMT

[AGB404] One of the followings is not one of the basic levels of bio-diversity
organic diversity

[AGB404] What is the common name of Gareinia kola
bitter kola

[AGB404] Ecosystem functions are hard to see in action but the results can be felt
True

[AGB404] Out of the 150 food plants consumed by man, how many are indigeneous to 
Africa
115

[AGB404] Which of these food grains is not a member of the cereal family
beans
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